SECURE MATERIAL - Reader Name:
Tennessee Comprehensive Assessment Program

TCAP/CRA
2014

\

\\/ 7
Phase Il

Video Game Ratings Task
Anchor Set

Copyright © 2014 by the University of Pittsburgh and published under contract with Tennessee State Department of Education by
Measurement Incorporated, 423 Morris Street, Durham, North Carolina, 27701. Testing items licensed to the Tennessee State Department of
Education. All rights reserved. No part of this publication may be reproduced or distributed in any form or by any means, or stored in a
database or retrieval system, without the prior written permission of Tennessee Department of Education and the University of Pittsburgh.




Constructed Response Assessment

Video Game Ratings Task

Li Wei has a rating of 9.4 in an online video game. His rating increases or decreases with each game
he plays.

a. The data below show the change to Li Wei’s rating for four consecutive games.

b.

+0.2,-0.4, +0.7, -0.5

Li Wei notices that after playing these four games, his rating is the same as it was before
he played the four games. Explain why Li Wei’s rating is the same.

Y

Six months later, Li Wei has a rating of 9.2. His friend Desai has a rating of 9.6. Draw a number
line and use it to represent the difference in the two friends’ current ratings. Explain how your
model represents the problem. Give the difference in the two friends’ scores.

Y
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Constructed Response Assessment
Video Game Ratings Task

The game developers want to change the rating system after feedback from the players. They will use
the following formula to determine each player’s new rating:

New Rating = Current Rating x 9.5

Li Wei’s rating before the change is 9.2. He wants to know what it will be after the change takes place,
but he makes an error using the formula and calculates a new rating of 8.74.

C. Find and explain Li Wei’s error.

Y

d. Show how to calculate Li Wei's new rating correctly.

Y
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Scoring Guide
The CCSS for Mathematical Content (3 points)

7.NS.A.1a Explains that since the sum of the changes in Li Wei’s ratings during the four
consecutive games is zero, Li Wei has not improved or lowered his score.

(1 Point)

7.NS.A.2x Explains why Li Wei’s product is incorrect in part c. Students may do this by:

- indicating that the decimal is in the wrong place;

- indicating that 0.92 x 9.5 =9.2 x 0.95 = 8.74 and explaining that the
decimal may have been misplaced in one of the factors;

- explaining that since the product 9 x 9 = 81, the product of
9.2 x 9.5 > 81; and explaining that the product of 9.2 (or 9.5) and any
number greater than 1 will be greater than 9.2 (or 9.5), and so 8.4 cannot
possibly be the product.

(1 Point)

7.NS.A.2z Determines the product of Li Wei’s rating and 9.5 correctly, using a traditional or
non-traditional algorithm.

(1 Point)

The CCSS for Mathematical Practice (1 point)

MP4 Constructs and uses a number line to calculate the difference between Li Wei’s
rating and Desai’s rating by marking a point to represent each rating and
calculating the distance between the two points. Students may explain how the
number line is used to represent subtraction by:

- beginning at a point representing 9.6 and moving 9.2 units to the left to end at
a point representing the difference of the two numbers, 0.4;
- beginning at a point representing 9.2 and moving 9.6 units to the left to end at
a point representing the difference of the two numbers, —0.4;
- plotting points representing 9.2 and 9.6 and counting the distance between
the two numbers, 0.4.
(1 Point)
(MP4: Model with mathematics.)

TOTAL POINTS: 4

© 2014 University of Pittsburgh 2
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The CCSS for Mathematical Content Addressed In This Task

Apply and extend previous understandings of operations with fractions to add, subtract, multiply,
and divide rational numbers.

7.NS.A.1a Describe situations in which opposite quantities combine to make 0. For example, a
hydrogen atom has 0 charge because its two constituents are oppositely charged.

7.NS.A.2  Apply and extend previous understandings of multiplication and division and of fractions to
multiply and divide rational numbers.

The CCSS for Mathematical Practice*

4. Model with mathematics.

* Gray type indicates Mathematical Practices not addressed in this assessment.

© 2014 University of Pittsburgh
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Secure Material: D

Video Game Ratings Task

o Not Copy!

A-1a

Li Wei has a rating of 9.4 n an online video game. His rating increases or decreases with each

game he plays

a. The data below show the change to Li Wei's rating for four consecutive games.

+0.2, 0.4, +0.7, -0.5

Li Wei notices that after playing these four games, his rating is the same as it was before

he played the four games. Explain why Li Wei's rating is the same.
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SecurE‘MaterlaI D"o Not Copy' .

" A-1b

Video Game Ratings Task

. ﬁ The game developers want to change the rating system after feedback from the piayers They will
- use the following formulato detfermine each player's new rating:

New Rating = Current Rating x 95

Li Wer's rating before the change is 9.2. He wants to know what it will be after the change takes
place, but he makes an error using the formula and calculates a new rating of 8.74.

. c. Find and explain Ly Wer's error.
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Anchor 1 Litho 00107200109
Total Content Points: 3 (7.NS.A.1a, 7.NS.A.2x, 7.NS.A.27)
Total Practice Points: 1 (MP4)

The student explains that Li Wei’s rating remains the same because “the sum of all four
games was zero” and includes correct calculations using the rating changes for all four
games. The student also provides a detailed analogy (7.NS.A.1a). The student correctly
explains that Li Wei’s product is incorrect in Part C because Li Wei moved the decimal
place of either 9.2 or 9.5 (7.NS.A.2x). The student determines the product of Li Wei’s
rating and 9.5 correctly by multiplying 9.2 by 9.5 in Part D for the correct rating of 87.4
(7.NS.A.27). The student correctly constructs a number line, correctly plots Li Wei’s
score (9.2) and Desai’s score (9.6), correctly calculates the difference between Li Wei’s
score and Desai’s score (0.4), and draws a series of arrows on the number line showing
that the distance between 9.2 and 9.6 is .4 (.1 +.1 +.1 + .1 = .4) (MP4).

Total Awarded Points: 4 out of 4
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Secure Material: Do Not Copy!

A-2a

Video Game Ratings Task

Li Wei has a rating of 9 4 in an online video game. His rating increases or decreases with each
game he plays.

a, The data below show the change to Li Wer's rating for four consecutive games.
+0.2,-04,+07,-05

L1 Wei nofices that after playing these four games, his rating 1s the same as it was before
he played the four games Explain why Li Wef's rating is the same
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b. Six months later, LI Wei has a rating of 9 2. His friend Desai has a rating of 96. Draw a
number line and use it to represent the difference in the two friends’ current ratings Explain
how your model represents the problem. Give the difference in the two friends’ scores.
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Secure Material: Do Not Copy!

A-2b

Video Game Rafinqs Task

The game developers want to change the rating system after feedback from the players They will
use the following formula o determine-each player's new rating: -

New Rating = Current Ratmg x9 5

L1 Wei's rating before the chaﬁge is 9 2. He wants to know what it will be after the change takes
place, but he makes an error using the fermula and calculates a new rating of 8 74

c

Find and explain Li Wer's error,
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Anchor 2 Litho 00127200109
Total Content Points: 3 (7.NS.A.1a, 7.NS.A.2x, 7.NS.A.27)
Total Practice Points: 0

The student explains that Li Wei’s rating remains the same, includes correct calculations
that start with Li Wei’s original rating of 9.4, and then adds the rating changes for all four
games, with a result of the original rating of 9.4 (7.NS.A.1a). The student correctly
explains that Li Wei’s product is incorrect in Part C because Li Wei multiplied 9.5 by .92
instead of 9.2, resulting in an incorrect rating of 8.74 (7.NS.A.2x). The student
determines the product of Li Wei’s rating and 9.5 correctly by multiplying 9.2 by 9.5 in
Part D for the correct rating of 87.4 (7.NS.A.2z). The student constructs a number line
and correctly plots Li Wei’s score (9.2) and Desai’s score (9.6). The student correctly
calculates the difference between Li Wei’s score and Desai’s score (0.4), but does not
show that difference on the number line (no credit for MP4).

Total Awarded Points: 3 out of 4

Page 10 of 34



Secure Material: Do Not Copy!

A-3a

| _VideoﬁGai'h'e Raiings Tas'k'

LiWei has a ratmg of 9.4 inan on!me vndeo game HlS ratmg lncreases or decreases w1th each
__ game he plays. S : - ‘

a. The data below show the change to LI Wel S rat:ng for four consecutive games
| 40, 2 0 4, 0. 7 ~0. 5

B Ll Wei notlces that after playmg these four games h!S ratmg is the same as |t was before '
he played the four games. Explain why Li Wei's rating is the same.

g 0.2 =0, a—o 7=0%
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' D .

‘ | b Six rﬁonthe Iatef, L| Wei ﬁas a‘rating. of 9, 2 HI:S foend Deeal has a rating of 96 .'ID'raw a

. number line and use it to represent the difference in the two friends’ current ratings. Explain
how your model represents the problem Give the dtfference in the two friends’ scores.
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h .Secure MateriaI:A Do Not Copy!.'; n

A-3b

Video G'ah*ne Ratings Task =

The game developers- want to change the rating system after feedback from the players They wﬂl

use the following formula to determme each player s new ratmg
| New Rating = Current Ratlng x 9 5

Ll Wei's rating before the change is9. 2 He wants to know what it will be after the change takes .
place, but he makes. an errorusmg the formula and calculates a new ratl_ng of 8.74.

c. Find and expiam Li Wei's error.
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d. Show how to calcutate Li Wei's new rating cbrrectly.
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Anchor 3 Litho 00167200127
Total Content Points: 3 (7.NS.A.1a, 7.NS.A.2x, 7.NS.A.27)
Total Practice Points: 0

The student provides a mathematical demonstration that the sum of the changes in Li
Wei’s ratings is zero (7.NS.A.1a). The student correctly explains in Part C that Li Wei’s
product is incorrect because Li Wei multiplied 9.2 by .95 instead of 9.5 (7.NS.A.2x). The
student determines the product of Li Wei’s rating and 9.5 correctly by multiplying

9.2 by 9.5 in Part D for the correct rating of 87.4 (7.NS.A.2z). The student constructs a
number line and correctly calculates the difference of 0.4 between Li Wei’s score and
Desai’s score (9.6 — 9.2). However, the student does not identify which point is Li Wei’s
rating and which point is Desai’s rating and does not show the difference of 0.4 on the
number line (no credit for MP4).

Total Awarded Points: 3 out of 4
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Secure Material: Do Not Copy!

A-4a

. Vldeo Game Ratmgs Task

-'-'Li Wel has a ratmg of 9 4 inan onlme wdeo game Hls ratlng increases or decreases with each
. game he plays.

a

The data below show the change to Li Wei's ratlng for four consecutave games

| +02 04, +07 ~05 |

' L| We| notlces that after playlng these four games hlS ratmg is the same as It was before

he played the four games. Explain why Li Wei's rating is the same.
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d. " Show how to calculate Li Wel's new rating correctly.
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A-4b

Video e-a'me Ratings Task
The game developers want to change the ratlng system aﬂer feedback from the players They will
use the following formula to determine each player's newrating:

New Rating = = Current Rating x 9.5

L| Wei's ratmg before the change is 9.2. He wants to know what it will be after the change takes
place but he makes an error using the formula and calculates a new ratmg_of 8.74.

e Flnd and explain Li Wefl's error. - |
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Anchor 4 Litho 00047200127
Total Content Points: 3 (7.NS.A.1a, 7.NS.A.2x, 7.NS.A.27)
Total Practice Points: 0

The student explains that Li Wei’s total increase in ratings equals his total decrease in
ratings, which is another way of stating that together, the total increases and decreases
equal zero (7.NS.A.1a). The student correctly explains that Li Wei’s product is incorrect
in Part C because Li Wei moved the decimal place (“Instead of leaving it like that he
placed the decimal behind the 8”) (7.NS.A.2x). The student determines the product of
Li Wei’s rating and 9.5 correctly by multiplying 9.2 by 9.5 in Part D for the correct rating
of 87.4 (7.NS.A.2z). The student constructs a number line and attempts to show the
difference between 9.2 and 9.6 visually on the number line. However, the student
miscalculates the difference between 9.2 and 9.6 as 0.3 and also fails to identify which
point represents the Li Wei’s rating and which point represents Desai’s rating (no credit
for MP4).

Total Awarded Points: 3 out of 4
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A-5a

Video Game Ratings Task

Lt Wei has a rating of 9.4 in an online video game. His rating increases or decreases with each
game he plays.

a.

- Page 170f€34h33—'&t~» {'fle,

The data below show the change to L1 Wei's rating for four consecutive games.
+0.2,-0.4,+0.7,-05

Li Wei notices that after playing these four games, his rating is the same as it was before
he played the four games. Explain why LI Wer's rating is the same.
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Six months later, L1 Wei has a rating of 9.2. His friend Desai has a rating of 9.6. Draw a

number line and use it to represent the difference in the two friends’ current ratings. Explain

how your model represents the problem. Give the difference in the two friends’ scores.
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Secure Material: Do Not Copy!

A-5b

4 .

V ideo Game Ratings Task Y

*

The game developers want to change the ratlng system after feedback from the players. They will

A

use the followmg formula to determine each players new rating:

. New Ratlng Current Ratlng x 9.5- ,

Li Wer's ratrng before the change s 92 He wants to know what it w:ll be after the change takes

place but he makes an error usrng the formula and calculates a new rating of 8 74
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Anchor 5 Litho 00447200112
Total Content Points: 3 (7.NS.A.1a, 7.NS.A.2x, 7.NS.A.27)
Total Practice Points: 0

The student explains that “his rating is the same because of his game scores,” and then
provides a running tally of the scores, demonstrating that the final score is 9.4. In the
column on the left-hand side, the student adds the same numbers, mistakenly arriving

at 0, which neither adds nor detracts from the already achieved point (7.NS.A.1a). In Part
C, the student correctly explains that Li Wei’s product is incorrect because Li Wei put the
decimal in the wrong place, going three places to the left instead of two (7.NS.A.2x). The
student determines the product of Li Wei’s rating and 9.5 correctly by multiplying

9.2 by 9.5 in Part D for the correct rating of 87.4 (7.NS.A.2z). The student constructs a
number line, plots Li Wei’s score (9.2) and Desai’s score (9.6), and displays on the
number line the difference between Li Wei’s score and Desai’s score (0.4). However, the
student has constructed the number line in descending order; it must be in ascending
order to receive credit (no credit for MP4).

Total Awarded Points: 3 out of 4
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A-6a

Video Game Ratings Task

Li Wei has a rating of 9.4 in an online video game. His rating increases or decreases with each
game he plays. g

a. The data below show the change to Li Wer's rating for four consecutive games.
+0.2,-0.4, +0.7,-0.5

Li Wei notices that after playing these four games, his rating is the same as it was before
he played the four games. Explain why Li Wer's rating is the same.
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b. Six months later, Li Wei has a rating ofs_l) 2. His friend Desai has a rating of 9.6. Braw.a

he-difference-inthe-tworfriendscurrent ratings” Explain
how your model represents the problem. Give the difference in the two friends’ scores.
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d. Show how to calctilate Li Wer's new rating correctly.

Secure Material: Do Not Copy!

A-6b

Video Game Ratings Task

The game developers want fo change the rating system after feedback from the players. They will
use the following formula to determine each player's new rating- )

New Rafing = Current Rating x 9.5

Li We's rating before the change is 9 2. He wants to know what it will be after the change takes

place, but he makes an error using the formula and calculates a new rating of 8.74.
, ,‘,a ' ;."}’ !;" e va;ﬁ . L e ] o , 4 ,\ﬁ“j
C Find and explain Li Wer's error
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Anchor 6 Litho 00287200109
Total Content Points: 2 (7.NS.A.2x, 7.NS.A.27)
Total Practice Points: 1 (MP4)

The student attempts to show how the positive and negative ratings cancel each other out,
but makes two errors. He transcribes incorrectly, combining +.2 and +.5 instead of +.2
and +.7. He also adds incorrectly, combining —4 and —.5 to get —.7 instead of —.9 (no
credit for 7.NS.A.1a). In Part C, the student correctly explains that Li Wei’s product is
incorrect because Li Wei multiplied 9.2 by .95 instead of 9.5 (7.NS.A.2x). The student
determines the product of Li Wei’s rating and 9.5 correctly by multiplying 9.2 by 9.5 in
Part D for the correct rating of 87.4 (7.NS.A.2z). The student correctly constructs a
number line, correctly plots Li Wei’s score (9.2) and Desai’s score (9.6) using a key,
correctly calculates the difference between Li Wei’s score and Desai’s score (0.4), and
shows that difference on the number line (.4) (MP4).

Total Awarded Points: 3 out of 4
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A-Ta

Video Game Ratings Task

Lt Wei has a rating of 9 4 in an online video game. His rating increases or decreases with each
game he plays. ;

a, The data below show the change to Lt Wei's rating for four consecutive games.
+02,-04,+0.7,-0.5

Li Wei notices that after playing these four games, his rating is the same as it was before
he played the four games. Explain why Li Wei's rating is the same

&@eﬂlﬁjﬂ O:‘l-o\""'\'O\j"O.S‘:
Terefore Ne stevted ab o
and iy endlng ol O, . -

2
r
- &

b Six months later, Li We! has a rating of 9.2 His friend Desai has a rating of 9.6. Draw a
number line and use It to represent the difference in the two friends’ current ratings. Explain
how your model represents the problem. Give the difference i the two friends’ scores.
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A-T7b

Video Game Ratings Task

The game developers want to change the rating system after feedback from the players They will
use the following formula to determine each player's new rating’

New Rating = Cur ren‘ Raling ¥ 9.5

Li Wer's ra’ung before the change is ‘0.2 He wants to know what 1t will be after the change takes
place, but he makes an error using the formula and calculates a new rating of 8.74.

e

c. Find and explain Ls Wei's error

“éx O SHXA L"%'\ M
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d. Show how to calculate’Li Wei's new rating correcily
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A X .42 = Y ’\L\

\ms’read oF A 1@0%—
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Anchor 7 Litho 00187200109
Total Content Points: 2 (7.NS.A.1a, 7.NS.A.2x)
Total Practice Points: 0

The student explains that Li Wei’s rating is the same because the sum of the changes in
his ratings equals zero. “Therefore he started at 0 and is ending at 0” is incorrect when
referring to the overall ratings (which start and end at 9.4), but the response is
conceptually correct in reference to the changes in the ratings (7.NS.A.1a). In Part C, the
student correctly explains that Li Wei’s product is incorrect because Li Wei put the
decimal in the wrong place (7.NS.A.2x). The student determines the product of Li Wei’s
rating incorrectly, multiplying 9.5 by .92 instead of 9.2 in Part D for the incorrect rating
of 8.74. The student provided the correct answer, 9.5 x 9.2 = 87.4, in Part C, but cannot
receive credit because an incorrect answer was provided in Part D (no credit

for 7.NS.A.2z). The student constructs a number line and correctly plots Li Wei’s score
(9.2) and Desai’s score (9.6). The student states that the difference between Li Wei’s
score and Desai’s score is 0.4, but does not show that difference on the number line

(no credit for MP4).

Total Awarded Points: 2 out of 4
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A-8a

Video Game Ratings Task

Li Wei has a rating of 9.4 in an online video game. His rating increases or decreases with each
game he plays.

a. The data below show the change to L1 Wer's rating for four consecutive games.
+0.2, 04, +0.7, -0.5

Li Wei notices that after playing these four games, his rating is the same as it was before
he played the four games. Explain why Li Wei's rating is the same.
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b. Six months Iater Ll Wei has a ratlng of 9.2. HIS friend’ Desat has a ratmg of 9 6. Drawa , R
number line and use It to represent the difference in the two friends’ current ratings. Explaini ‘
how your model represents the problem. Give the difference in the two friends’ scores. {
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Video Game Ratmgs Task

Secure Material: Do Not Copy!

A * S

5

o> s
N A

The game developers want to change the rating system after feedback from the players They will

use the followmg formtila to determine each player's new rating:

o New Ratmg Current Rating x 9.5 S : ‘
Li Wer's rating before the change is 9 2. He wants.to know what it will be after the change takes
p!ace butfhe makes an error usnng the formula and calculates a new rating of 8. 745 5
c. Flnd and explam L1 Wei's error: ; - ‘ ]

-

d.
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Show how to caleulate Li Wer's new fatlng correctly
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Anchor 8 Litho 00617200112
Total Content Points: 1 (7.NS.A.27)
Total Practice Points: 0

The student incorrectly explains that “you are subtracting more than you added”

(no credit for 7.NS.A.1a). In Part C, the student incorrectly explains that Li Wei’s
product is incorrect because 78.66 was subtracted from 87.4, which is not reasonable
(no credit for 7.NS.A.2x). The student determines the product of Li Wei’s rating and 9.5
correctly by multiplying 9.2 by 9.5 in Part D for the correct rating of 87.4 (7.NS.A.2z).
The student constructs two separate number lines, one for Li Wei and one for Desai, and
attempts to plot the changes in ratings by creating a scale that has changes in ratings
interspersed with overall ratings (no credit for MP4).

Total Awarded Points: 1 out of 4

Page 28 of 34



Secure Material: Do Not Copy! |

A-9a

Video Game Ratings Task -

Li Wer has a rating of 9.4in an onlme vrdeo game HIS ratlng mcreases or decreases wrth each
game he plays. : : :

a. The data below show the change to Li Wei's rating for foLir consecutive games.

+02 --04 -!-07 —05

Li Wel notlces that after p!ayrng these four games, his ratmg is the same as rt was hefore
he played the four games. Explam why Li Wel S ratlng is the same. '

| e g 02 04501, 05
Qe G e oS deckiedd gpdl
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- b, "Six-months later, Li Wei has @ rating of 9. 2 Hls friend Desai has a ratlng of 9.6. Draw a

“number line and use it to represent the. difference in the two friends’ current ratmgs Explam S

how your model represents the problem. Give the dlfference in the two friends’ scores.
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A-9b

Video'Game Ratings Task

The game developers want fo change the ratlng system aﬁerfeedback from the players They will
- use the fc[iowmg formula to determine each players new ratlng '

Li Wei's rating before the change i89.2; He wanis to know what it will be after the. change takes L

New Rating = Current Ratlng x 9.5

: place but he makes an error usmg the formula and caiculates a new rating cf 8 74.

c.,

& £ yew ‘nmef A, zxci& H mwmt

" Show how to calcilate Li Wei's new rating correctly.

F[nd and expia:n Li Wei's error.
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Anchor 9 Litho 00137200127
Total Content Points: 0
Total Practice Points: 0

The student attempts to explain why Li Wei’s rating remains the same, but the
explanation is too vague. Of the student’s explanation, only “some of the numbers
decreased and some increased” is not given in the prompt (no credit for 7.NS.A.1a).
Although the student’s statement that “If you times 9.2 x 9.5 = it would give you 87.4 not
8.74” is correct, the student does not explain Li Wei’s error, which is that Li Wei did not
have the decimal point in the right place (no credit for 7.NS.A.2x). In Part D, the student
incorrectly determines the product of Li Wei’s rating and 9.5. Although the student
provides the correct answer and expression in Part C, this response gets no credit since an
incorrect answer is provided in Part D (no credit for 7.NS.A.2z). The student constructs a
number line and correctly plots Li Wei’s score (9.2) and Desai’s score (9.6). However,
the student does not calculate the difference of 0.4 between Li Wei’s score and Desai’s
score, and while the student displays that difference on the number line, the difference is
not labeled (no credit for MP4).

Total Awarded Points: 0 out of 4

Page 31 of 34



Secure Material: Do Not Copy!

A-10a

Video Game Ratings Task

L1 Wei has a rating of 9 4 in an online video game His rating increases or decreases with each
game he plays

a, The data below show the change to Li Wer's rating for four consecutive games.
+0.2, -0.4, +0.7, -0.5

Li Wei notices that after playing these four games, his rating is the same as it was before
he played the four games. Explain why Li Wer's rating is the same.

+0,7-0.4. =
= AH =07 = 7/

b. Six months later, Li Wel has a rating of 9.2. His friend Desai has a rating of 9.6. Draw a
number line and use it to represent the difference in the two friends’ current ratings. Explain
how your mode!l represents the problem. Give the difference in the two friends’ scores.
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A-10b

""" Video Game Ratings Task .. | o

~

The game developers want to change the rating system after feedback from the players They will
use the following formula to determme each player‘s new rating:

I I New Ratlng = Current Rating x 9.5

T
<

! :» rl N
H

Li Wel s rating before the change Is 9 2. He wants to know what it will be after the change takes

1

11'1: ’ ;3
coal Ly place but he makes an ‘error usmg the formula and calculates a new rating of 8. 74 .
Il . r ; . R . ! .

c.‘ Find and explam L1 Wel's error.
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Anchor 10 Litho 00027200112
Total Content Points: 0
Total Practice Points: 0

The student combines the first two and last two changes in Li Wei’s ratings,
demonstrating that the first two combine to form —.2 and the last two combine to form .2.
This is a good start toward demonstrating that Li Wei’s ratings changes combine to

equal 0; however, the student does not continue, failing to provide sufficient explanation
of why Li Wei’s rating is the same (no credit for 7.NS.A.1a). The student does not
explain why Li Wei’s product is incorrect in Part C (no credit for 7.NS.A.2x). The
student does not determine the product of Li Wei’s rating and 9.5 correctly (no credit

for 7.NS.A.2z). The student finds the difference between the two friends’ scores, but does
not construct a number line (no credit for MP4).

Total Awarded Points: 0 out of 4
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